PKW3M-P7X2-10/TEL
RITESMERES B4 L PVC — Connection cable

MBX]-&
29.6 S9
20.7

50

BAREIE BR
IP67/
Fii R PKW3M-P7X2-10/TEL cus c € ggml-.!g fﬁn‘?p'ﬁ!ﬁ EOF
®5 6626090 /
BELEA Ak, M8 x 1, B @ f L
- |
B E 3 M Female M8, angled, 3-pin
fih B3 1, CuzZn, E2 M With 2-color LED (PNP, yellow, green)
BHFEME : PVC
il SRR BE, TPU, B8 EPEHG 26
-~ W TPU, &8 N tEm, W
ITEIEF # FIEHA A
ERIRR/IRET 4, Cuzn, 4 T P A4 R A4 A TR
= HRMEY , kg
Seal R, FPM/FKM BR2LABS
EEHE 0.5...0.6 Nm MBS ELE : IP67. IPEIK
(MEITBERZEAHIE ! ) HELEKE:10m
LED display dual LED %éﬁﬁéﬁﬁ
Display operating voltage LED , &6
Display switch state LED, &6
W > 100 f@#EIRE
EREE 3
RIpEE IP67, IP6IK, REFTERST
B4
SKHEER @ 4.3 mm +0.20
ZHKE 10 m
KEHE PVC, 26
S B5EM PVC
LOEEE 3x0.34 mm?
Kk, mE 42 x 0.1 mm fath &5 3 @i
LEHE BN, BU, BK
BSM4EE@20°C
HEBE 30 Ve
= 8 2000 V

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|3

PKW3M-P7X2-10/TEL| 25-02-2025 03-28 | R EHEARHIEHR



BARBIE
4 BK
B 4A 3BU 1BN
B > 30.5 MQ/km
IEMEEEPR B&X{E 57 Q/km
PR L2 ERE
BEEE (BERRE) > 5 X0 BB 3%
BUEE (FH) 210 x@ —
R (ET) -40...+105 °C | 45 I8
RERE (B ) -5..+80 °C T e
ANE cULus |L§_>_J| —
Bt 4
TORQUE-WRENCH-SET-AS 6936170 BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206

HAS5131-0

HS5131-0

WERFER ; LETFEHE0.4-1.0
Nm , FFM8 (SWO)HHERTF , A
FM12 (SW 14)8 R F

6905402

PF L N KERERS M8 x 1, B
B 35, AERIFIERE , BH5IL
2.5-5.1 mm, EEHBE/KRERE
0.14-0.34 mm? , BRHN% | €EIZF

6902710
A T N SKIERESS , M8 x 1, B
B 34, FEETT , B454£4.0-5.0
mm, &S EBE/ AL IRAE0.14-0.34
mm? , BRNE K SEIRS

BS5133-0

HS5231-0

TEL 1 TXL &85 , KE : 18
mm , S : 4mm , #E : REEKEE
(PC), Hits : A2, TEX%E , AR

6901012

Konfektionierbarer Stecker,
M8 x 1, gerade, 3-polig,
Schraubklemmanschluss,
Leitungsdurchlass 3.5 bis

5.0 mm, Adernquerschnitt/
Klemmvermdégen 0.14 bis
0.50 mm?, Kunststoffgehause,
Metallliberwurfschraube

6902810
i A4k N KRR, M8 x 1, B A
B 3% EETY | B455144.0-5.0
mm, & SEB /LKA E0.14-0.34
mm? , BRNE K 2EIRE

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|3

PKW3M-P7X2-10/TEL| 25-02-2025 03-28 | R EHEARHIEHR



FW-PRKPM0320-SA-S-0406 100002292

HIH L RSLIERERE M8 x 1, B
B34, ERER LT, B4
%4 0FE55mm |, LOEEBE/ELEE
400 oz = 2 A ==
[‘7 T] A AEF0.14F0.5 mm? , BRISNFE |

A SREEERT
014 —T 21329 J

©13.7

B4

R~H BE %S
LABEL-HOLDER-FLEX-PVC 100048170 ATHRREELENPVCIHEEX ( TEL
TXLFE=mRY ) ; EANKEER : &
N5mm ; R3R4 x 18 mm ; BEH
1% . 88501

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 3|3

PKW3M-P7X2-10/TEL| 25-02-2025 03-28 | R EHEARHIEHR



